Solving Systems Algebraically

Example 1... Solve each system of equations with substitution.
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Solve each system of equations with elimination.
) tj! e

b. J(4x+3y=-6) c5(3x+7y=15) 15y +35y= 7S
:x—2y=12 S5x—6y=-27 -3(5x+2y:_4 )<- b\/-— IQ
-y=3 g Owrlyzad a2y= 8 87
-\ 3% * - 31 )
=3 I3 13 Ixt (D = ‘5 32_3
J x=-3 3*}9‘
3+ %9 5()-by =T =
la 3 K3 B % .af‘ 3% -L
15 - Ly =
x>t AS HS
‘b 3 Fogag o= o fg- x—— ’Q—
e e gyl
__3_, }*" ) & o
/- y "
; i\ 1“Mi'“e\ q 7 GQ’3>
Exam

- Suppose your drama club is planning a production that will cost
525 for the set and $150 per performance. A sold-out performance

will bring in $325. Write an equation for the cost C and an equation fou
the income [/ for p sold-out performances. Find how mz
performances will make the cost equal to the i income.
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